
Mathematics: Order of Operations Demo (D-4)
EXPRESSIONS WITH PARENTHESES VI

Name:

Time: Score: /

97)

7y + 9x− (0y × (−1y))÷ (−9)÷ (−8) =

98)

(6x− (−11)) + 2y × (2× 2) + 0x =

99)

(42÷ (−7))− (0× (−3))× (−6y) + 5x =

100)

(0y × (−4x))× (−13)− 48x÷ 8 + (−9) =

101)

(2 + (−1y))− (6x− 3x + (−4))− 0 =

102)

(5× 0)÷ 8 + (−10)÷ (−1)× 3y =

103)

(16− 9 + 10) + 2y − 10y + 10y =

104)

(8 + (−2y))− 9x + (y × 8)÷ 4 =

Mathematics: Order of Operations Demo - Set 4 14 © workulum.com

https://www.workulum.com

